Expoentes negativos de 10

448,2 x 1002 =
134,6+ 107 =
100D =

8 x 10" =
504,6+ 107 =
821,3+ 1001 =
1004 =

1003 =

9x 100 =

195, 4+ 1073 =

Encontro: Data: Pontuagao:

3x10% =

2% 1002 =
2x10=

363,7 x 100 =
496, 5 x 1001 =
100D =

1002 =

100D =

1002 =

796,7+ 100% =
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Expoentes negativos de 10

448,2 x 1002 = 4.482
134,6+ 107 = 134600
1077 = 0.1

8§x10° =8

504, 6+ 10 = 5046000
821,3+ 10" = 8213
107 = 0.0001

107 = 0.001

9 x 10 = 0.009

195, 4+ 107 = 195400

Encontro: Data: Pontuacao:

3 x 10% =300

2x 107 = 0.02

2% 10=20

363,7 x 107 = 0.3637
496, 5 x 107 = 49.65
1079 = 0.1

1072 =0.01

1077 =0.1

1072 = 0.01

796, 7+ 100 = 7967000
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